AP 4] gelEr=a,
dr —3(x —2y) =10
y=bet & o, ab 2] H2?
D -4 @-2 OO0 @ 2 ® 4
by =
v, y o T agupga 0T o 37}
bx —ay = -3
(1, 2) & o, a+b 2 GH2?
® -3 @0 ®1 @ 2 ® 5
T A A4 = {(x, yly=22-7 , B =
{(z, 4z +y=5} LW, AnB =7
@ {(2, 3)} @ {(-2, 3)}
® {2, —-3)} @ {(3, 2)}
® {(-3, —2)}
r_y_ 7
Aurg Al §+ g - f o] 7} AP A 2+
2 6 3 i
3r =k & WS o, A5 k9 3 7ot

o R 8z —2(3z —2y) =25 I
q’E ke e 1 J’]-7E
0.8x+gy:0.3

122 + 5y =14
@
dr + 3y =10
8r —4y =25
@
12244y =1
2r — 4y =14
®
8z + 2y =10
2z 44y =25
@
8r 4+ 2y =3
20+ 4y =14
®
dr 42y =11
2 — 3y =1
e AFERA R I = P,
3z 42y =8

y=>0 2 W, a® +40° 9 k& F5HH?

UL A 62—6y =1 2] 3|7t (z+1) : (z—y) =6:4
g WET o, oy 9] P ool

2x — 3y =11




)
—

=m

22 — 3y

v 9 9 A5 D wl, A% m 9 @

P(H >y

O
—

@ -6 ® 4

@ -12

® 12

@ 6

o

o]
=

7t =a,y=0b,2=c

sholat,

A

a+b+c 3t

?_

O
=

z+y=10

y+z=14

z+x =12




